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QUESTION 1

Which action should be taken to ensure that packets do not use the shared buffer space when put into a queue? 

A. Set the queue\\'s CBS to 0 

B. Set the queue\\'s MBS equal to the CBS 

C. Set the queue\\'s high-priority-only equal to the MBS 

D. Set the queue\\'s MBS to 0 

E. Set the queue\\'s high-priority-only to 0 

Correct Answer: B 

 

QUESTION 2

How many queues are available for use on service egress within a VPLS service? 

A. 1 multipoint and 8 unicast. 

B. 8 queues, regardless of traffic type. 

C. 8 unicast and 24 multipoint. 

D. 8 unicast and 8 multipoint. 

E. 16 queues, distributed as desired. 

Correct Answer: B 

 

QUESTION 3

Which of the following BEST describes a SAP when regarding QoS? 

A. A point in the network where EXP bits can be mapped to one of eight predefined FCs, each one with its own queue. 

B. A logical point in a service tunnel where all of customer traffic is aggregated. 

C. A point at which the initial classification of customer traffic occurs. 

D. A point in the network where QoS parameters are discarded in favor of lower-level hardware queuing functions, such
as LLI (Link Layer Interleave). 

E. A point in the network where traffic flows from multiple different services are queued together, based on forwarding
class. 

Correct Answer: C 
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QUESTION 4

According to the configurations shown, which of the following statements about the classification and queuing of self-
generated OSPF traffic is TRUE? 

A. It will be classified into forwarding class BE and stored in queue 1. 

B. It will be classified into forwarding class BE and stored in queue 8. 

C. It will be classified into forwarding class NC and stored in queue 1. 

D. It will be classified into forwarding class NC and stored in queue 8. 

Correct Answer: A 

 

QUESTION 5

Which parameter can be configured in a network ingress QoS policy? 

A. The priority (low/high) to be assigned to the packets. 

B. The profile (in/out) to be assigned to the packets. 

C. The queues to be assigned to the forwarding classes. 

D. The markings to be marked on the packets. 

Correct Answer: B 
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